Practice
Equations of Lines: Find Equations Given Constraints

Answer these problems, then check your answers using the key on the next page. If you missed
something, look at the solutions after the answer key, and if you still don’t understand, watch the review
video again.

#1) Write the equation of a line in standard form with slope =3 containing the point (2, 1)
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#2) Write the equation of a line in standard form with slope = 7 containing the point (4, —2)

#3) Write the equation of a line in standard form with slope =% containing the point (4, 3)



#4) Write the equation of a line in slope-intercept form containing the point (8,9) and perpendicular to
the ling 2y+9x=-4

#5) Write the equation of a line in slope-intercept form passing through the point (5,—2) and paraliel to
the line 2x—-5y =10

#6) Write the equation of a line in slope-intercept form containing the point (10, 4) and perpendicular to

the line 2x+5y =20



#7) Write the equation of a line in slope-intercept form which passes through the points (2,4) and

(-1.7)

#8) Write the equation of a line in slope-intercept form which contains the points (3, -2) and (3,2)

#9) Write the equation of a line in point-slope form which contains the points (0, ~5) and (4,-2)



#10) What is the standard form of the equation of a line that has slope =3 and contains the point {2, 5)

#11) Write the equation of the line that contains the point (8,0) and is parallel to the line y = %.\'H



Answers:
#1) 3x—-y=5
#2) x+4y=-4

#3) Ov—-2y=30
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#4 ) =—X+—

) Y=
2

#5 ) =—x—4
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#6 p=—x—21
) 5%

#1) y=—x+6
#8) x=3

49)  (y+5)=>x or (y+2)=>(x-4)
4 4
#10) 3x+y=I11

3
#11 1=—x—0
)y Y 4



Solutions: :
HEY Write the equation of a line in standard form with sfope = 3 containing the point (’? I)
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#2) Write the equation of a line in standard form with sfope = w; containing the point (4, -2)
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#13) White the equation of a line in standard lorm with sfope —;; containing the point {4,3)
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f14) Write the equation ol a ling in slope-intereept form containing the point {8, 9) and perpendicular o
the line 2y 49y = -4
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#5) Write the equation of a line in stope-imercepl Torm passing through the point (5. - 2) and parallel to
the tine 2x-5y =10
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Hess line shye = 5

#16) Write the equation of a line in slope-intereept for containing the point (10, 4) and perpendicular to
the line 2y 5y =20
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XY,
#7) Wrile the equation ol a line in slope-intercept form which passes through the points ( 44) andt
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/18) Wrile the equation ol a line in slope-intercept form which contains the points (3, -2) and (3,2}
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#9) Wrile the equation of a line in point-=slope Torm which contains the points (0 -5} and (4. - 2)
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#110) What is the standard form of the equation of a line that has slfope = -3 and contains the point (2,5)
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#11) Write lhe u;m!mn ul !ht. Hine that contains the point (8,0} and is pavallet (o the line v~—; X+l
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